2010

(1)
CO,
E3 E10
2 3 E3 CO;
[ ]
1996 [PJ/ ] |2010
5769 [ kL] = =346PJ/ KL
E3 5840 [ kL] = x329GJ/KL +325GJ/KL E3
E3 5665 [ kL] = 07
104 [ kL] = -
Cco, 241 [ tCO, | = >232tCO/KL
(2001 7 )
3 10 E10 CO,
[ 1]
1996 [PJ/ ] |2010
5769 [ kL] = =+346PJ/ kL
E3 5987 [ kL] = =329GJ/KL +317GJ/KL E10
E3 5388 [ kL] = %90
381 [ kL] = -
Cco, 885 [ tCO, | = >2.32tCO,/KL
(001 7 )
2010
50 kL 86 kL E3
4 2010
[ ]
86 [ kL] 50 KL
55 [ KL]| = ><212GJ/kL +329MI/KL
Cco, 128 [ KkL]| = >232tCO,/kL




(2)
CO;

30

CO,

CO2

[ ]

818,315

[TI/ ]

2003

95.6

[ ]

782,309

[TI/ ]

37.1

[TI/ kL]

2,109

[ kL]

30

E30)

244

[TI/ kL]

532

E30

3,206

[ kL]

E30

1,603

kL]

506

co,

1,301

[
[ ki]
[ tCO/ ]

> >0.0693[ tCO2/TJ]=10

2010
2010

287

50

kL

2010

86

kKL

[ ]

86

[ kL]

50

kL

30

E30)

287

[ kL]

=30

E30

144

[ kL]

><50

532

E30

24.4

[T/ kL]

532

37.1

[T/ kL]

E30

189

[ kL]

45

[ kL]

co,

116

[ tCO/ ]

> >=<10>=0.0693[ tCO2/TJ]—=10




3)

co,
7 co,
[ 1]
873 | ] 50cc
2434 [km/ /7 ] 16
00333 [L/km]
0.0357 [kWh/km]
71 [ K/ ] - < =
843 [GW 7/ ] = x x
co, 165 [ tCO/ ] | = =346TJ/ KLx<00671 CO/TJ
co, 30 58 [ tCO/ ] | = 036 069 tCO/GW =10
co, 107 135 [ tco/ || -
8 CO,
[ 7t |12t | 20t
[ 71,100 94,800 | 102,700
h 7 1 438 | 438 438
[L/h] 7 11 18
[KWh/h] 18 28 45
[ kL7 ] 224 457 810 = X X
[GW / ] 561 | 1163 | 2024| = x x
co, [ tCO/ ] 59 120 213| = =<382TJ/ KL=<00687 CO,/TI=10
CoO, 20 42 73 = x=<0.36 0.69 CO,/GW =10
[ tCO/ ] 39 80 140
co, 39 78|  140| =
[ tCO/ ] 20 40 73
9 co,
[ 1]
3200 [ | 2002
= =< x<
23360 [ km/ ] 200km/ /] 3§§0km ,
20 [km/L]
13 [km/kWh]
co, 31 [ tCO/ ] = = >382[MJ/L]=<00687[kgCO,/MJ]
co, 6 12 [ tCO/ ] = = <036 069[kgCO,/MWh]
co, 19 25 [ tCO/ | -




10 CO,

CO2
7 8 9
107 135 tCO2 133 257 tCO2 19 25 tCO: 259 417 tCO:

2010
2008 2010 10
11 2010
[ 1]
873 [ ] 50cc
50 [ ] 2004
30 [ ] = =<3 =20 2008 2010 20
2434 [km/ [/ ] 16
0.0333 [L/km]
0.0357 [kWh/km]
24 [ kL/ ] = x X
290 [GW 7/ ] = x X
Co, 56 [ tCO2/ ] = >=346TJ/ kL><0.0671 CO,/TJ
Co, 1.0 20 [ tCO2/ ] = =036 069 tCO,/GW =10
Co, 3.6 46 [ tCO2/ ] =
2009
12 2010
[ ] 7t 12t 20t
[ 71,100 94,800 | 102,700
[ 1 9.1 9.1 9.1 11
[ 1] 18.2 18.2 18.2 | 2009 2010 2
[ 12,940 17,254 | 18,691 <
[h/ 7 1 438 438 438
[L/h] 7 11 18
[kwh/h] 18 28 45
[ kL/ ] 41 83 147 | = =< x
[GW 7/ ] 102 212 368 | = < x
co, [ tCO/ ] 1 92 39 ;;0 ><38.2TJ/ kL><0.0687 CO,/TJ
Co, 4 8 13 = >=036 069 CO,/GW =10
[ tCO/ 1] 7 15 25
CO, 7 14 26 =
[ tCO/ 1] 4 7 14




2009

13 2010
[ ]
3200 [ ] 2002
5 [ ] 20
15 [ ] 2008 2010 3
480 [ ] - x>
3504 [ km/ ] 200km/ /
20 [km/L]
1.3 [km/kwh]
Co, 5 [ tCO/ ] = =+ 38.2[MJ/L]><0.0687[kgCO,/MJ]
co, 1 2 [ tCo/ ] = =+ 036 0.69[kgCO,/MWh]
CO2 3 4 [ tCO/ ] -
14 2010
2010
11 12 13
36 46 tCO; 25 47 tCO2. 3 4 tCO; 32 56 tCO:
4)
CO,
10
15 CO,
1MW
10
4710 <1MW/  =8760 / >0.12x0.36 0.69tCO/MWh
18 34  tCO.f
2010
2007 2008 2010 3
5
16 2010
2007 1MW
2008 2010 5MW 5 >< 1MW/
1 5%3 >=<1MW/ 8760 /[ >0.12%0.36 0.69tCO/MWh
=0.6 1.2 tCOaf




®)

CO,
CO2
5
17 Cco,
"1 *2 co, [ tCO,]
[ 1l 110 kwl [ [ Mwh
2,642 300 793 417 150 275
356 200 71 37 13 24
213 200 43 23 8 15
95 200 19 10 4 7
1,199 200 240 126 45 83
4505] - 1,166 613 220 404
*1 12
*2 50
*3 CO2 0.36kgCO2/kWh 0.69kgCO2/kWh
2010
2007 2010 2002 25
_kw
18 2010
2007 2010 25 kW
2007 2010 125 kW
2012 125 kWx<0.12 ><8,760 =1,314GWh
CO 0.36kgCO2/kWh
0.69kgCO2/kWh
1,314GWh><0.36 0.69 kgCO2/kWh 47 91 tCO
(6)
CO,
13
13 22
11.8g'/kg 28 50




6ms3/ |/ 5 10 8 18
10ms/ / 4 10 10 20
50 30 1999 2002
19 CO,
E B CO, N
N VAR 2 [ | 137 1]
[ ]
93 174] 44  196] 212 182 369 2.9 5.9 8.8 3.7 7.6 113
254 486] 27 12 13 305 632 4.9 10.1 15.0 6.2 12.9 19.1
314 571 42| 187] 203 587] 1159 9.4 185 279 120 237 35.7
412 809] 78| 347 377 1430 3,050 22.8 48.6 714 293 62.5 91.8
51.6 960 48] 214] 232[ 1104] 2227 176 355 531 226 456 68.2
48.0 910 279 1242 1347] 5962| 127258 95.0 195.4] 2904| 1221] 2510 3731
46.4 80.7] 120 534] 579 2478 5104 39.5 82.8] 1223 507 106.4] 1571
514 98.0] 168 748 811 3845 7,948 61.3] 1267] 1880 787| 1628 2415
59.3 1172 59 263 285] 1560] 3340 24.9 53.2 781 319 684] 1003
57.1 1084] 31| 138 15 788 1626 126 25.9 385 16.1 333 49.4
64.6 1270 77[ 343 372[ 2216] 4724 35.3 753 1106] 454 96.7] 1421
82.1 1519] 109 85 9.2 698] 1397 11.1 22.3 334|143 28.6 42.9
144.8 28351 09 4 43 579] 1,219 9.2 19.4 286] 119 25.0 36.9
100.0] 4450] 482.7] 21,7134] 45143] 3465] 710.6] 1,066.1] 4449] 9245] 1.369.4
*1 11.8g'/kg 28 50
*2 14 2003
*3 2004
*4 = >
*5 CO» =
coP 2.0 25 coP 1.1 0.9
CO2 0.1594kgCO2/MJ 0.2048kgC02/MJ
2010
15 2008
1996 2007
20 2010
6.7 =<3 x50 x1,066 1,369 tCO2=107 138 tCO:
6.7 >x<12 x=<20 1,066 1,369 tCO2=171 220 tCO2
2010
107 138 tCO2 171 220 tCO2 278 358 tCO2
(7)
CO,
8,000 m3
2003
1,189 t 146 t 1,043 t




3R 2005 9
219 t
1
8,000 t
COz2
2006 3
21 CO;
1 *2 *3 *4 *5 "6 CO, [ tCO,l”’
[ 1 [ 1 IiNmdry-) [ [ m3] f[ro/7  m*| [TJ] | [Gwh] [1J]
8,000 214 1.709 142 684 5 ] 5 J10 15
1,043 90 550] 57,365 214 12.253] 1,021 4901 37 70l 38 |75 108
219 90 550] 12,045 214] 2573 214 1029] 8 15| 8 |16 23
8,000 83 300[ 408,000 214| 87149 7262 34860 261 501 268 [529 769
485,410 103684] 8640 _ 36,289] 311 __ 506] 243 554 839
*1
*2 2004
*3 () 2003 11
*4 60 35.6MJ/Nm® 8,500kcal/Nm?
*5 30
*6 40
*7 Cco, 0.36kgCO,/kWh Cco, 0.69 kgCO,/kWh
A Cco, 0.0693kgCO,/M] 0.9
151 t-DS DS
22 CO,
[ ]
151 [ t-DS/ ]
16.8  [GJ/t-DS] 4,000kcal/t-DS
07 [-]
17,758 [TI/ 1] = > >
1,480 [GWh/ ] = ><0.3+3.6TJ/Gwh 30
7103 [TI/ ] = =04 40
co, 53 [ tCO/ ] =<CO, [tCO,/MWh]
102 [ tCO/ ] 0.36 0.69
55 [ tCO/ ] ~ <  CO, [tCO,/GJ]
108 [ tCO/ ] 0.9 0.0693 A
157 [ tCO/ ]




2010

8,000 ms3

‘I\)

23 2010
1 2 *3 *4 *5 *6 Cco, [ tCO,]”
[ ] [ 1 INm¥/dry-t1 [ [ m3] |[T3/ m¥ | [TJ] [ [GWh] [TJ]
8,000 21.4]_1.709 142 684 5 N E 10 15
209 90 550 11495 214 2455 205 982 7 4 8 15 22
44 90 550 2420 214 517 43 207 2 3 2 4 5
800 83 300] 40800 214] 8715 726 3486 26 50l 27 |53 77
62,715 13,39] 1116 4689]_40 7731 [ 71 108
*1 2 2
1
*2 2004
*3 () 2003 11
*4 60 35.6MJ/Nm?® 8,500kcal/Nm?
*5 30
*6 40
*7 co2 0.36kgCO,/kWh co, 0.69 kgCO,/kWh
A co2 0.0693kgCO,/MJ 0.9
24 2010
[ ]
2% [ t0S/ ] 20 2008 2010
16.8 [GJ/t-DS] 4,000kcal/t-DS
0.7 [-]
2,705 [TJ/ ] = x X
225 [GWh/ ] = >0.3-+3.6TJ/Gwh 30
1,082 [TJ/ ] = <04 40
Co, 8 [ tCO/ ] <CO, [tCO,/MWh]
16 [ tCO/ ] 0.36 0.69
8 [ tCO/ 1 + > Co, [tCO,/GJ]
16 [ tCO/ ] 0.9 0.0693 A
24 [ tCO,/ ]




(8)

CO,
BEMS
BEMS CO2 3
25 BEMS CO,
co, co,
T3/ 1 | [ tco, 1| [ tCO, ]
307,814 2,090 63
A 510,501 3,538 106
LPG 99,788 597 18
182,054 934 28
772,470 7,725 | 232 444
1,872,627 14,884 | 447 659
2003 1
8
HEMS HEMS
26 HEMS CO;
co, co,
M/ 1 | [ tco, ] [ tCO, ]
435,880 2,960 237
LPG 275,099 1,645 132
406,314 2,084 167
941,725 9417 | 753 1,444
2,059,018 16,106 | 1,289 1,980
HEMS 8
HEMS

CO2

2004



27 CO,
*1 1] 7 Jco, 4
[ 1 [TI/ ] [%] [TI/ ] [ tCO;] |
44,189 1,405,447 5.8 81,516 547
6,034 267,844 5.8 15,535 107
LPG 314 126,112 10.0 12,611 75
50,537 1,799,403 109,662 729
10,310 217,170 5.8 12,596 85
234 69,610 10.0 6,961 48
2,178 94,523 10.0 9,452 63
3,780 225,464 10.0 22,546 155
5,958 319,987 31,998 218
44,189 227,440 10.0 22744 153
111,228 2,633,610 183,961 1,233
. (2001 7 )
*2 5.8
IT 2003
10
2005
*3 = >
*4 CO2 0.0671kgC0O2/MJ 0.0687kgC0O2/MJ LPG 0.0598kgC0O2/MJ
2010
BEMS
28 BEMS 2010
[ ]
Co, 447 659 [ tCO/ ] 24
15 [ ] 10 15
67 [ 1]
335 [ ] = x5 2006 2010
2010 Co, 150 221 [ tCO/ ] = x
HEMS 2008 2010
29 HEMS 2010
Co, CO,
[T3/ 1][ tCO, ] %] [ tCO; ]
435,880 2,960 26 62
LPG 275,099 1,645] (49014 34
406,314 2,084 1300400 900 43
941,725 9417 196 375
2,059,018 16,106 335 514




2006

30 CO,
739 tCO,><30 ™x< 5 =<4 " 44 tCO,
*1 6
1
*2 20 2007 2010 4 5
31 CO,
*1 *1 *2 *3 CO2 *4
[ 1] [TI/ 1 [%] [TJ/ ] [ tCO)
314 126,112 34.0 4,288 26
234 69,610 32.0 2,228 15
2,178 94,523 32.9 3,110 21
3,780 225,464 33.3 7,508 52
5,958 319,987 10,618 73
44,189 227,440 32.6 23464 157
50,695 743,149 40,598 271
.1 (2001 )
*2 2006 2010 50 20
I (2001 )
*3 = >
*4 CO2 0.0671kgC0O2/MJ 0.0687kgC0O2/MJ LPG 0.0598kgC0O2/MJ
(9) LED
CO;
LED
LED
LED 2004




32 LED CO,

[ 1]
AB 201,533GWh/
32,447 [GWh/ ] 2004 16.1
16 2004
15  [%]
85 [%] LED 2004
LED 70 [%] 20lm/W LED 70Im/W
LED 15 [%] 85Im/W LED 100Im/W
3,407 [GWh/ ] = x X
4,137 [GWh/ ] = >x X
co, 272 [ tCO/ 1] = ><0.36[ tCO,/GWh]=-10
co, 521 [ tCO/ ] = ><0.69[ tCO,/GWh]=10
40
LED
33 LED CO,
[ ]
C 165,412
66,165 [GWh/ ] GWh/ 2004
40
LED 15 [%] 85Im/W LED 100Im/W
9,925 [GWh/ ] = X
CO, 357 [ tCO/ ] = <036 tCO,/GWh]=10
CO, 685 [ tCO/ ] = <069 tCO,/GWh]=10
LED
LED 2004




34 LED CO,
[ 1]
7,651 [GWh/ ] 2004
63 [%]
36 [%]
1 [%] LED 2004
LED 15 [%] 85Im/W LED 100lm/W
40 %]
723 [GWh/ ] = x X
1,102 [GWh/ ] = > X
CoO, 66 [ tCO,/ ] = ><0.36[ tCO,/GWh]=10
CoO, 126 [ tCO/ ] = ><0.69] tCO,/GWh]=10
35 LED CO;
CO:2
32 33 34
272 521 tCO2 357 685 tCO: 66 126 tCO2 695 1,332 tCO:
2010
10 2008
2009 LED
36 LED 2010
[ ]
AB 201,533GWh/
32,447 [GWh/ ] 2004 16.1
16 2004
10 [%] 10
15 [%]
85 [%] LED 2004
LED 70 [%] 20Im/W LED 70Im/W
LED 15 [%] 85Im/W LED 100lm/W
1,022 [GWh/ ] = x =3 x< X
827 [GWh/ ] = x X2 x< X
Co, 67 [ tCO/ ] = >=<0.36] tCO,/GWh]-=10
Co, 128 [ tCO,/ ] = ><.69[ tCO,/GWh]=10




2009

37 LED 2010
[ ]
C 165,412
66,165 [GWh/ ] GWh/ 2004
40
10 [%] 10
LED 15 [%] 85Im/W LED 100lm/W
1,985 [GWh/ ] = x <2 x
co, 71 [ tCO,/ ]| = 036[ tCO/GWh]<10
co, 137 [ tCO/ ]| = =069 tCO,/GWh]=10
LED 2009 -
2006
38 LED 2010
[ ]
7651 [GWh/ ] 2004
10 [%] 10
63 [%]
36 [ LED 2004
1 [%]
LED 15 [%] 85Im/W LED 100lm/W
40 %]
145 [GWh/ ] = x <2 X x
551 [GWh/ ] = x x5 x x
co, 25 [ tco/ 1| = =<0.36[ tCO,/GWh]=10
co, 48 [ tCo/ 1| = =<0.69[ tCO,/GWh]=10
39 LED 010
CO:2
36 37 38

67 128 tCO2 71 137 tCO2 25 48 tCO2 163 313 1tCO:






